UDAYA PUBLIC SCHOOL AYODHYA
SUMMATIVE ASSESSMENT-I [2024-25]
SUBJECT-POLITICAL SCIENCE
TIME :- 3:00 HOURS CLASS -12 M:M:80
Note:- All questions are compulsory.
* Question numbers 1-12 are of 1 mark each.
* Question numbers 13-18 are of 2 mark each.
* Question numbers 19-23 are of 4 mark each.
* Question numbers 24-26 are passage, cartoon and Map based of 4 mark each.
* Question numbers 27-30 are of 6 mark each.
Section :- A [ 1x12=12]
1. Which country was the successor state of USSR in the UN Security Council?
a. Belarus  b. Georgia c. Russia d. Kazakhstan
2. Which of the following nations adopted and Open door policy?
a. China b. South Korea c. Japan d. USA
3. In which year India’s pokhran nuclear explosion was conducted?
a. 1978 b. 1998 c.1979 d. 1989
4. Who among the following has served in UN as Under Secretary General of communication and public
information from India?
a. Shashi Tharoor b. Vijaya Lakshmi Pandit c. Harish Salve d. Dalveer Bhandari
5. Assertion (A): The membership of the UN Security Council was expanded from 11 to 15 in 1965
Reason (R:) Number of permanent members of the Security Council was changed
a. Both Assertion (A ) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A)
b. Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of
Assertion(A)
c. Assertion (A) is true but Reason (R) is false
d. Assertion (A) is false but Reason (R) is true
6. What is the full form of START?
a. Strategic Arms Reduction Tolls b. Strategic Arms Reduction Treaty
c. Strategic Arms Reduction Tactics d. Strategic Arms Reduction Tax
7. Assertion (A) Half of the world’s population growth occurs just in six Asian countries
Reason (R) China is the most populous country of the world
a. Both Assertion (A ) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A)
b. Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of
Assertion(A)
c. Assertion (A) is true but Reason (R) is false
d. Assertion (A) is false but Reason (R) is true
8. The Kyoto protocol was held in which country?

a. China b. Korea ¢. Indonesia d. Japan
9. When and where was the 7" WSF meeting held?
a. Nairobi January 2007 b. Islamabad january 2007
c. Delhi, January 2007 d. New York January 2007
10. Cyst with destiny speech delivered by Jawaharlal Nehru on
a. Midnight 15" August b. Midnight 16" August
c.  Midnight 14" &15" August d. 14" August
11. Which among the following treaties sine to establish ASEAN
a. Marshall Plan b. Bangkok declaration ¢ . Maastrichttreaty d. Schengen Agreement

12. In which SAARC summit the concept of SAFTA was signed?
a. 12" SAARC Summit b. 10" SAARC Summit c. 14" SAARC Summit d. 15" SAARC summit
Section :- B

13. What was the issue related to Punjab and Bengal ?
14. Has Globalization a purely economic dimension ?
15. What was Earth Summit ? List its objectives.

16. Explain the notion of traditional security.



17.
18.

19.
20.
21.
22.
23.

24,
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What is ‘““Peace Keeping Operation”’?
What does the logo of an ASEAN flag symbolise ?
Section”- C
Examine the nature and features of ‘Shock Therapy’.
How did the relations between India and China improve after 1962 conflicts ?
What does Globalization include ? What are two thrust areas of Globalization ?
Explain some challenges by India at the time of its Independence.
What are ‘“Global Commons’’. Suggest any two steps for the protection of Global Commons.
Section:- D
In the given political outline map of the world, five countries have been marked as A, B, Cand
D Identify these countries on the basis of information given below and write their correct names along with
their respective the serial number of the information used and the concerned alphabets as per following
format.

S.NO Alphabet Country

0]

(ii)

(iii)

(iv)
The country where ‘Earth Summit was held in June 1992. [1]
A leading contributor to greenhouse gas emissions. [1]
A country is known for its and anti-dam pro-river movements. [1]
A country exempted from the requirement of the Kyoto Protocol. [1]

Observe the cartoon carefully and answer the questions that follow.



a. Which part of this cartoon is related to China? [1]

b. Asses the strength of China on this basis of this cartoon. [1]

C. ‘China may be the next superpower in the world’. Justify the statement with two arguments.[2]
26. Read the following passage carefully and answer the question that follow
At the time of independence, the problem of integration of princely states was a big challenge for the national unity
and integrity of India. Under such difficult times, Sardar Patel undertook the daunting task of uniting all 565 princely
states of India. Known as an ‘lron Man’ of India , Patel’s approach to the question of the merger of princely states into
independent India was very clear. He was not in favour of any compromise with that territorial integrity of India. By
his political experience diplomatic prowess and far sightedness, out of India’s 565 princely states many had already
given their consent to merge with India even before achieving the independence. Sardar will remain as an astounding
leader who combined in himself the features of a true ‘Nationalist’, ‘catalyst” and ‘Realist’ popularly characterized as
NCR in Indian political history.

i.  Which of the following was not associated with Sardar Patel [1]

a. The Iron Man of India b. The first home minister of India
c. The first Deputy Prime Minister of India d. the father of the constitution

ii. Expand NCR [1]
a. National commit he research b. Nationalist catalyst realist
c. National current reality d. None of the above

iii.  Inwhich of the following states did Patel not face the challenge of integration [1]
a. Junagarh b. Mysore c. Kashmir d. Hyderabad

iv. How many princely states were there when Sardar Patel under took their integration

a. 560 b. 595 c. 545 d. 545
Section:- E

27. List out the steps taken by China towards the introduction of market economy. Examine its significance.
28. Suggest some of the reforms you think are necessary in the United Nations.

29. Describe some sources of threats to the non- traditional security .

30. Discuss the problem involved with the integration of Princely States.



